STASILIZERS - USErR MANUAL

A
N
B
SCREW SCREW
CODE | TECNICAL INFO KIT SCREW A|SCREW B | b0

FLAT

Stabilizer 325
S325/pF 151 cm2 - AR 7,00 MH108 M6x20 M6x16 T Nm

Stabilizer 370
S370/PF 195 cm2 - AR 7,00 MH107 Mo6x16 M6x16 1T Nm

Stabilizer 425
S425/PF 266 cm2 - AR 6.80 MH108 M6x20 M6x16 T Nm

GULLWING

Stabilizer 380
S380/PF 180 cm2 - AR 8.10 MH108 M6x20 M6x16 1T Nm

Stabilizer 430
S430/PF 240 cm2 - AR 7,70 MH108 M6x20 M6x16 T Nm

Stabilizer 480
S480/PF 285 cm2 - AR 8.10 MH108 M6x20 Mo6x16 T Nm

REVERSE

Stabilizer 355
S355/PF 160 cm2 - AR 8,08 MH108 M6x20 Mo6x16 1T Nm

Stabilizer 375
S375/PF 178 cm2 - AR 8,08 MH108 M6x20 M6x16 T Nm

Stabilizer 395
S395/PF 198 cm2 - AR 8,08 MH108 M6x20 M6x16 T Nm

CERTIFIE

|

Stabilizer 330Y
S330Y 217 cm2 - AR 4,3 MH107 M6x16 M6x16 TTNm
Youth Foil Class
Stabilizer 400
S400 207 cm2-AR 7,7 MH107 M6x16 M6x16 TTNm
Formula Kite

] [SCAN HERE

CHECKTHE
LATEST VERSION
OF SABFOIL
USER MANUALS

SAB GROUP S.R.L. - Via Guido Rossa 7/9, San Mauro Pascoli (FC), 47039, Italy - Phone 0541931612 - P.IVA/VAT 1T03976400402 - SDI KUPCRMI



